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Min. data Acute
reg. met  Factor
13
8
7
6.1
52
4.3

Rule 57 Aquatic Values Work Sheet

RS KR VA N S ]

Chemical Name: chteo~t¢

CAS. #_3F58-~1a-2

AQUATIC MAXIMUM VALUE CALCULATIONS

A. Minimum 8 species requn'ement is not ;net Minimum reqwrements met=__
Minimum requirements missing for Tier 1 =
Acute factor=__
1. Toxicity is not dependent on a water characteristic
a. FAV calcuiation
2. Toxicity is dependent on a water characteristic
a. Slope = (Table __ )
b. FAV equation:
3. GotoC.
B. Minimum 8 species requiremént is met (Tier 1)
1. Toxicity is not dependent on a water characteristic
a. FAV calculation: Aft. F'A-V =12.98L8( wa /L = 13w/l
2. Toxicity is dependent on a water characteristic
a. Slope = (Table __)
b. Ranked genus méan acute intercepts: Table
c. Final acute intercept = (Att. )
In of final acute intercept =

d. FAV equation =

C. Agquatic Maximum Value (AMV) calculation:

- Amy = 12.9Q¢¢¢ bar/l + 2 .47 ug /L

i

&-‘5'—\?/1.




FINAL CHRONIC VALUE CALCULATIONS

A. Minimum 8 species requirement is not met (Tier Il). Minimum requirements met=__
Minimum requirements missing for Tier | =
1. Acute to chronic ratio
a. Number ACRs meeting minimum data requirements= __ (Table __ )
| b. Acute to chronic ratio =
2. Toxicity is not dependent on a water characteristic
FCV =
3. Toxicity is dependent on a water characteristic
a. Slope = (Table _)
b. Aquatic .chronic intercept = (Table _)
in of aquatic chr.onic intercept =

c. FCV equation =

B. Minimum 8 species requirement is met (Tier |)

1. Toxicity is not dependent on a water characteristic

a.FCV=__ (At ) FCewv= £2.'a8c;¢,(u%f(_-':i& T Ol gl
2. Toxicity is dependent on a water characteristic 2 O F e /e
a.Slope=  (Table ) |

b. Ranked genus mean chronic intercepts: Table

c. Final chronic intercept = (Att. __); In of final chronic intercept =

d. FCV equation =

TRETET




